

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation
or Section 4947(a)(1) Trust Treated as Private Foundation
Do not enter social security numbers on this form as it may be made public. ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf

OMB No 1545-0052

Open to Public Inspection

		endar year 2014 or tax year beginning		, 2014,	and endir	g		, 20	
	Name	of foundation PRAIRIE SPRINGS: PAU	JL FLECKENSTEIN	CHARITABI	Ε	A	Employer Identifi	cation number	
_	TRUS	ST					46-6723636		
	Numb	er and street (or P O box number if mail is not delivered	to street address)		Room/suite	E	Telephone numbe	er (see instructions)	
							(41	4) 297-5751	
	C/0	J CALLAN, 777 E WISCONSIN AV	E	ŀ					
	City or	town, state or province, country, and ZIP or foreign pos	stal code			- 1 "			
						0	If exemption applica	tion is	
	MIL	NAUKEE, WI 53202-5306					pending, check here		
G	Che	ck all that apply Initial return	Initial return of	of a former pu	blic chari	v	1 Foreign organizat		
		Final return	Amended ret	•		´ '	2 Foreign organizat		
		Address change	Name change	е			85% test check h	ere and attach	
Н	Che	ck type of organization X Section 501(\neg	computation .		
Γ		ection 4947(a)(1) nonexempt charitable trust	Other taxable pri		on			n status was terminated ((1)(A), check here	
ī			unting method X Ca			٦,		in a 60-month termination	
			ther (specify)			'		in a 60-month termination i(1)(B), check here	
		▶ \$ 10,143,799. (Part I, c	olumn (d) must be on cas	:h basıs)					
	art l	Analysis of Revenue and Expenses (The						(d) Disbursements	
_		total of amounts in columns (b), (c), and (d)	(a) Revenue and expenses per	(b) Net inves	4	(c)	Adjusted net	for charitable	
		may not necessarily equal the amounts in column (a) (see instructions))	books	income			income	purposes (cash basis only)	
	1	Contributions, gifts, grants, etc., received (attach schedule)	10,347,850.		 -			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	2	Check I if the foundation is not required to	·						
	3	attach Sch B	40.		40.			ATCH 1	
	4	Dividends and interest from securities	164,196.	164	,196.			ATCH 2	
		Gross rents							
		Net rental income or (loss)							
ø		Net gain or (loss) from sale of assets not on line 10	14,440.		1				
2	Ъ	Gross sales price for all 2, 406, 228	· · · · · · · · · · · · · · · · · · ·						
Revenue	7	Capital gain net income (from Part IV, line 2) .		14	,440.				
ď	8	Net short-term capital gain							
	9	Income modifications	·						
	10 a	Gross sales less returns and allowances							
	ь	Less Cost of goods sold .							
	С	Gross profit or (loss) (attach schedule)							
	11	Other income (attach schedule) ATCH, 3	-3,814.						
_	12	Total. Add lines 1 through 11	10,522,712.	178	,676.				
	13	Compensation of officers, directors, trustees, etc	0						
enses	14	Other employee salaries and wages	*						
ë	15	Pension plans, employee benefits							
	16 a	Legal fees (attach-schedule) APCH 4	2,471.					2,471	
e E	b	Accounting fees (aftach schedule)							
Ę	С	Other professional fees (attach schedule) (15)	5,891.	-	5,891.				
tra	17	Interest S NOV 2-4 2015. S.							
Zi.	18	i axes (attach schedule) (see instructions) [35].	3,328.		,814.				
Ē	19	Depreciation (attach schedule) and depletion.						_	
ğ	20	Occupancy OGUETO,							
ō	16 a b c 17 18 19 20 21	Travel, conferences, and meetings					<u></u>		
ā	22	Printing and publications							
ina	23	Other expenses (attach schedule) ATCH .7	7,517.		5,005.			2,512	
rat	23 24 25	Total operating and administrative expenses.	10 207		, ,,			4 000	
ē		Add lines 13 through 23	19,207. 265,000.	14	2,710.	,		4,983	
0		Contributions, gifts, grants paid		1,	2,710.		(
-	26	Total expenses and disbursements Add lines 24 and 25	284,207.		2, /10.			269,983	
	27	Subtract line 26 from line 12	10 220 505						
	a	Excess of revenue over expenses and disbursements	10,238,505.	164	5,966.				
	Ь	Net investment income (if negative, enter -0-) Adjusted net income (if negative, enter -0-).		10.	-,,,,,,,				
	_ <u> </u>	rajactos net income (il negative, circi "0").	l	l	i i			L.,	

JSA For Paperwork Reduction Act Notice, see instructions. 4E1410 1 000 1396HD M091

Form 990-PF (2014)

SCANNED NOV 3 0 2015.

	_
Dan	a 7

Part II		Ralance Sheets	Attached schedules and amounts in the description column should be for end-of-year	Beginning of year	End of	f year	
	21 6 11	Datance Officets	amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value	
	i	Cash - non-interest-bear	ing				
	2	Savings and temporary	cash investments	5,347.	5,294,708.	_5,294,708.	
	3	Accounts receivable ▶					
I		Less allowance for dou	btful accounts ▶				
-							
		Less allowance for dou	btful accounts ▶				
Į							
			officers, directors, trustees, and other				
			tach schedule) (see instructions)				
			receivable (attach schedule)				
,,			btful accounts ▶				
ssets			e				
SS			eferred charges			 	
۷	10 a	Investments - U.S. and stat	e government obligations (attach schedule)				
	b	Investments - corporate	stock (attach schedule) ATCH 8		3,257,056.		
	, C	Investments - corporate	bonds (attach schedule) ATCH 9		1,692,525.	1,624,932.	
	11	Investments - land, building and equipment basis Less accumulated deprecia	s.				
	12	(attach scriedule)	loans				
1	13	Investments - other (att:	ach schedule)			·	
	14	Land, buildings, and					
		equipment basis Less accumulated deprecia	ation				
	4.	(attach schedule)					
	16	•	completed by all filers - see the	C 242	10 044 000	10 142 700	
\dashv			age 1, item I)	5,347.	10,244,289.	10,143,799.	
			accrued expenses				
S	19	Deferred revenue					
ij	20	Loans from officers, director	ors, trustees, and other disquatified persons		,		
Liabilities	21	Mortgages and other no	otes payable (attach schedule)				
-	22	Other liabilities (describe	e ▶)				
	23	Total liabilities (add lia)	es 17 through 22)	0			
_	23			<u> </u>			
			low SFAS 117, check here . ►				
es		•	24 through 26 and lines 30 and 31.				
nc	24	Unrestricted					
Balances	25	Temporarily restricted					
_	26	Permanently restricted					
Net Assets or Fund		Foundations that do	not follow SFAS 117, ▶ 🗓				
ř		check here and com	plete lines 27 through 31.				
S	27	Capital stock, trust prin	cipal, or current funds	1,030,000.	11,377,850.		
set	28	Paid-in or capital surplus, o	r land, bldg , and equipment fund				
Asi	29	Retained earnings, accum	ulated income, endowment, or other funds	-1,024,653.	-1,133,561.		
et	30	Total net assets or fun	d balances (see instructions)	5,347.	10,244,289.		
Z	31		net assets/fund balances (see				
				5,347.	10,244,289.		
9	art l		nges in Net Assets or Fund Bala		· · · · · ·		
			balances at beginning of year - Part		nust agree with	· · · · · · · · · · · · · · · · · · ·	
•			ed on prior year's return)			5,347	
•						10,238,505.	
2	CIL	er amount from Part I	, line 27a ded in line 2 (itemize) ►_ATCH_10	• • • • • • • • • • • • • • • • • • • •			
3	Oth	er increases not inclu	ded in line ∠ (itemize) ► ATCH 10			439	
4	Add	ilines 1, 2, and 3	n line 2 (itemize) ► ATCH 11			10,244,291	
						2	
<u>6</u>	Tota	ai net assets or fund t	palances at end of year (line 4 minus	line 5) - Part II, column (b	o), line 30 6	10,244,289.	
						Form 990-PF (2014)	

Capital Gains and Losses for Tax on Investment Income

Part IV

(a) List and 2-story b	(b) How acquired P - Purchase D - Donation (c) Date acquired (mo , day, yr)		(d) Date sold (mo , day, yr)		
1a SEE PART IV SCHE	DULE				
b					
С					
d					
e					<u></u>
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale		(h) Gain or (lo (e) plus (f) mini	
а					· · · · ·
b	-			•	
С					
d					
е					
	showing gain in column (h) and owner	ed by the foundation on 12/31/69	<i>(</i> h	Gains (Col (h) g	ain minue
(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col (i) over col (j), if any		(k), but not less t Losses (from co	than -0-) or
b					
		<u> </u>	 		
C			<u> </u>		
d		<u> </u>	ļ		
<u>e</u>		San ala sata a Dati ka 7			
2 Capital gain net income	•	f gain, also enter in Part I, line 7 } f (loss), enter -0- in Part I, line 7	2		14,440.
	ain or (loss) as defined in sections	•			
-		structions) If (loss), enter -0- in			
	<u> </u>		3		00
Part V Qualification	<u> Jnder Section 4940(e) for Re</u>	educed Tax on Net Investment I	ncome		
f "Yes," the foundation does	not qualify under section 4940(e)	butable amount of any year in the b Do not complete this part ar, see the instructions before making	· · · · · · · · · · · · · · · · · · ·		」Yes X No
(a) Base penod years Calendar year (or tax year beginning in)	(b) Adjusted qualifying distributions	(c) Net value of noncharitable-use assets		(d) Distribution r (col (b) divided by	
2013	1,024,653.	4,010.			55.524439
2012	1,024,033.	1,010.		2.	73.324435
2011		+	 		-
2010					.
2009		 			
2000		· · · · · · · · · · · · · · · · · · ·			
2 Total of line 1, column (c	4)		2	21	55.524439
		de the total on line 2 by 5, or by the	- -	2.	
•	·	ess than 5 years	3	25	55.524439
4 Enter the net value of no	4 Enter the net value of noncharitable-use assets for 2014 from Part X, line 5				
5 Multiply line 4 by line 3	5 Multiply line 4 by line 3				845,901.
6 Enter 1% of net investm	6 Enter 1% of net investment income (1% of Part I, line 27b)				1,660.
			7 1,078,847,561		
_					260 202
8 Enter qualifying distribut If line 8 is equal to or gipert VI instructions	ions from Part XII, line 4	c in Part VI, line 1b, and complete	that part	using a 1% ta	269,983. ex rate See the
JSA 4E1430 1 000 1396HD M091		100274	-0103	Form	9 90-PF (2014
1330HD 14031		1002/4	0103		TAGE

Form 990-PF (2014)

the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes? b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?

Form 990-PF (2014)

3b

4a

Х

Form 990-PF (2014)

Form 990-PF (2014)		Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Mana and Contractors (continued)	agers, Highly Paid Employ	/ees,
3 Five highest-paid independent contractors for professional services (see instru	ctions). If none, enter "NONE	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services	<u> </u>	
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical i organizations and other beneficianes served, conferences convened, research papers produced, etc.	nformation such as the number of	Expenses
1 N/A		
2		
3		
4		

Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 ar	nd 2	Amount
1 NONE	IU Z	
1_13312		
2		
All other program-related investments. See instructions		
3 NONE		
<u> </u>		
Total. Add lines 1 through 3	 	

Form 990-PF (2014)

46-6723636 Form 990-PF (2014) Page 8 Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, Part X see instructions) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., 3,900,193. 1a 1b 386,188. 1c 1d 4,286,381. Reduction claimed for blockage or other factors reported on lines 1a and Acquisition indebtedness applicable to line 1 assets 2 Subtract line 2 from line 1d 3 4,286,381. Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see 4 64,296. instructions) 5 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4. 4,222,085. 6 211,104. Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here ▶ □ and do not complete this part) 211,104. Minimum investment return from Part X, line 6 2a Tax on investment income for 2014 from Part VI, line 5 2a Income tax for 2014 (This does not include the tax from Part VI). . 2b b 3,319. 2 c 207,785. Distributable amount before adjustments Subtract line 2c from line 1 3 4 207,785. 5 6 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1 207,785. Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes a Expenses, contributions, gifts, etc - total from Part I, column (d), line 26 1a 269,983. Program-related investments - total from Part IX-B 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., 2 Amounts set aside for specific charitable projects that satisfy the a Suitability test (prior IRS approval required) 3a **b** Cash distribution test (attach the required schedule) 3b 4 269,983 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income

Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation

Enter 1% of Part I, line 27b (see instructions)

qualifies for the section 4940(e) reduction of tax in those years

Adjusted qualifying distributions. Subtract line 5 from line 4

Form 990-PF (2014)

269,983.

5

6

Form 990-PF (2014) Page 9 Part XIII Undistributed Income (see instructions) (a) Corpus Years prior to 2013 2013 2014 Distributable amount for 2014 from Part XI, 207,785. Undistributed income, if any, as of the end of 2014 a Enter amount for 2013 only b Total for pnor years 20 12 20 11 20 10 Excess distributions carryover, if any, to 2014 a From 2009 **b** From 2010 c From 2011 **d** From 2012 From 2013 1,024,519. f Total of lines 3a through e 1,024,519. Qualifying distributions for 2014 from Part XII, 269,983. line 4 ▶ \$ a Applied to 2013, but not more than line 2a . . . b Applied to undistributed income of prior years (Election required - see instructions) c Treated as distributions out of corpus (Election required - see instructions) 207,785. d Applied to 2014 distributable amount 62,198 e Remaining amount distributed out of corpus . . Excess distributions carryover applied to 2014 (If an amount appears in column (d), the same amount must be shown in column (a)) Enter the net total of each column as indicated below: 1,086,717. a Corpus Add lines 3f, 4c, and 4e Subtract line 5 b Prior years' undistributed income Subtract line 4b from line 2b c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b Taxable 4a from line 2a Taxable amount - see instructions f Undistributed income for 2014 Subtract lines 4d and 5 from line 1. This amount must be distributed in 2015 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions) Excess distributions carryover from 2009 not applied on line 5 or line 7 (see instructions) . . . Excess distributions carryover to 2015. 1,086,717. Subtract lines 7 and 8 from line 6a 10 Analysis of line 9 a Excess from 2010 . . . b Excess from 2011 . . . c Excess from 2012 . . . 1,024,519. d Excess from 2013 . . .

Form 990-PF (2014)

e Excess from 2014 .

62,198.

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other

JSA 4E1490 1 000

ATCH 15

1396HD M091

Form 990-PF (2014)

Form 990-PF (2014) Page 11 Supplementary Information (continued) 3 'Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, show any relationship to any foundation manager or substantial contributor Foundation status of recipient Recipient Purpose of grant or contribution Amount Name and address (home or business) a Paid during the year ATCH 16 265,000. ▶ 3a **b** Approved for future payment Total

JSA 4E1491 1 000

Form 990-PF (2014)

Page 12

Emery grass amounts unless otherwise indicated (i) (b) (b) (b) (b) (b) (b) (b) (b) (b) (b	Part XVI-A Analysis of Income-Pro	ducing Acti	vities			
1 Program service revenue Business code Amount Exclusion code Amount (See instructions) Amount Exclusion code Amount (See instructions) See instructions (See instructions) Amount Exclusion code Amount (See instructions) See instructions (See instructions) Amount Exclusion code Amount Exclusion code Amount (See instructions) See instructions (See instructions) Feet Amount (See instructions) Fee		Unrel	ated business income	Excluded by	y section 512, 513, or 514	
a b c c d d d d d d d d d d d d d d d d d	1 Program service revenue					function income
b c d d e f g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 14 164,196. 5 Net rental income or (loss) from real estate a Debt-financed property	_			 		(Gee mandonoris)
c d d				<u> </u>		
d e f g Fees and contracts from government agencies 2 Membership dues and assessments						
g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 7 Other investment income 6 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of sasets other than inventory 10 Gross profit or (loss) from sales of inventory 11 Other revenue a b ATCH 17 c d d e 12 Subtotal Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) (See worksheet in line 13 instructions to verify calculations) Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Line No Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to total columns (e) of Part XVI-A contributed importantl	٠					
g Fees and contracts from government agencies 2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of inventory 10 Gross profit or (loss) from sales of inventory 11 Other revenue a 12 Subtotal Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) 14 4 0. 15 40. 16 Net rental income or (loss) from sales of inventory 18 14, 440. 18 14, 440. 19 Net income or (loss) from sales of inventory 10 Gross profit or (loss) from sales of inventory 11 Other revenue a 12 Subtotal Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) 14 40. 15 Total Add line 12, columns (b), (d), and (e) 16 Total Add line 12, columns (b), (d), and (e) 17 Total Add line 12, columns (b), (d), and (e) 18 Total Add line 12, columns (b), (d), and (e) 19 Relationship of Activities to the Accomplishment of Exempt Purposes 10 Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part XVI-A contributed importantly to take the column (e) of Part	_					
2 Membership dues and assessments 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of inventory. 10 Gross profit or (loss) from sales of inventory. 11 Other revenue a b ATCH 17 c d d e e 12 Subtotal Add columns (b), (d), and (e)	f		·			
3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of inventory. 10 Gross profit or (loss) from sales of inventory. 11 Other revenue a b ATCH 17 c d e 12 Subtotal Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) 14 (See worksheet in line 13 instructions to verify calculations) Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Line No Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to temporal income in the column (e) of Part XVI-A contributed importantly to temporal income income income income income is reported in column (e) of Part XVI-A contributed importantly to temporal income	g Fees and contracts from government agencie	es				
4 Dividends and interest from securities	2 Membership dues and assessments					
5 Net rental income or (loss) from real estate a Debt-financed property b Not debt-financed property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from sales of inventory . 10 Gross profit or (loss) from sales of inventory . 11 Other revenue a b ATCH 17 c d d e 12 Subtotal Add columns (b), (d), and (e) . 13 Total Add line 12, columns (b), (d), and (e) . (See worksheet in line 13 instructions to verify calculations) Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to temporary in the property in the propert				14		·
a Debt-financed property b Not debt-financed property 7 Other investment income 8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue a b ATCH 17 c d e 12 Subtotal Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e) (See worksheet in line 13 instructions to verify calculations) Relationship of Activities to the Accomplishment of Exempt Purposes Line No Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to te	4 Dividends and interest from securities			14	164,196.	
b Not debt-financed property						
6 Net rental income or (loss) from personal property . 7 Other investment income						
7 Other investment income				 		
8 Gain or (loss) from sales of assets other than inventory 9 Net income or (loss) from special events 10 Gross profit or (loss) from sales of inventory 11 Other revenue a				ļ		
9 Net income or (loss) from special events		i		1.0	1	
10 Gross profit or (loss) from sales of inventory. 11 Other revenue a b ATCH 17 c d e 12 Subtotal Add columns (b), (d), and (e)	• •	· -		18	14,440.	
to the revenue a b ATCH 17 -3,814. c d d e 12 Subtotal Add columns (b), (d), and (e) -3,814. 13 Total Add line 12, columns (b), (d), and (e)						
b ATCH 17	· · · · · · · · · · · · · · · · · · ·	•		 		
c d		-	_2 014	 		
d e 12 Subtotal Add columns (b), (d), and (e)		_	-3,614.	+		
e 12 Subtotal Add columns (b), (d), and (e)		f		 		
12 Subtotal Add columns (b), (d), and (e)		_				
13 Total Add line 12, columns (b), (d), and (e)			-3.814.	 	178,676	
(See worksheet in line 13 instructions to verify calculations.) Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Line No Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to t			 		· ·	174,862.
Line No Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to t	(See worksheet in line 13 instructions to verify of	calculations)				
Explain bottom not bearing for which mounts to reported in bottom (c) of rail views and importantly to t	Part XVI-B Relationship of Activit	ies to the A	complishment of Ex	empt Purp	oses	
	•	•				

Form 990-PF (2014)

JSA 4E1492 1 000

Form 990-PF (20	014) PRAIRIE SPRINGS: PAUL FLECI	KENSTEIN CHARITABLE 46-6723636 Page 13
Part XVII	Information Regarding Transfers To and Transa Exempt Organizations	ctions and Relationships With Noncharitable
	organization directly or indirectly engage in any of the follow on 501(c) of the Code (other than section 501(c)(3) organizations?	• • •

1 D	id the	organization of	directly or indirectly	engage in	any of the folio	owing with a	iny other orga	ınızatıon	describe	ea	Yes	No
ın	section	on 501(c) of th	ne Code (other than	section 50	1(c)(3) organiz	ations) or in	section 527,	relating	to politic	al		
0	rganıza	ations?								ł		ļ
аΤ	ransfei	rs from the rep	porting foundation to	a nonchar	itable exempt o	organization o	of			ŀ		
										1a(1	ا	Х
												Х
		ansactions		,								
			a noncharitable exe	mot organiz	ation					1ь(1)	Х
			ets from a noncharit									Х
-			equipment, or othe		_							Х
			rrangements									Х
			rantees									Х
			ervices or members									x
•	•		quipment, mailing li	•	_						1	X
			of the above is "Ye								form	L .
			of the above is foother assets, or serv									
			on or sharing arran									
				 								
(a) Line	no	(b) Amount involve	ved (c) Name of	noncharitable	exempt organization		escription of trans	iters, trans	actions, and	snaring ar	rangeme	ents
		N/A			-	N/A						
												
•												
										-		
					•							
-						-						
-												
2- 1	<u> </u>	in conductions and re-	ectly or indirectly a	ffiliated unit	h or rolated to		oro tay ayamı	ot organ	izatione			
			601(c) of the Code (Yes 3	7 No
			• • • • • •	omer man s	section 50 I(C)(3	o)) or in sect	1011 5277			. Ш	163 [- 140
D I	res,		following schedule		b) Type of organiza	tion	Γ	(c) Descr	ption of rela	ationehin		
		(a) Name of orga	anization	1 7	b) Type of organiza	illon		(c) Desci	iption of ten	ationship		
				 	***		-					
				+								
		÷		 			-					
				-								
											l ballad .	4 4
	Under	penalties of perjury Land complete Decl	, I declare that I have example are that a have example are the compared to th	mined this return taxpayer) is base	n, including accompai ed on all information of	nying schedules a fwhich preparerhi	ing statements, and as any knowledge	to the bes	it of my kno	wieoge and	i bellet, i	t is true
Sign		20/			1/				May th	e IRS disc	uss this	return
_		140/C	llow tus	te	11/16/15	TRU	STEE			e prepare		
Here	\$ign	ature of officer or	trustee	Da	te •	Title			(see insti	ructions)?	X Yes	N
	11/	/										
D-: !	V	Print/Type prepa	arer's name	Prepart	r's signature		Date	, 7	Check	ıf P∏N		
Paid	•	JOHN F CA	LLAN	/W	11/1ll	M /	11/16/	15 :	elf-employe	ø ₽00	2844	20
Prep	arer	Firm's name	▶ FOLEY & LAR	DNEK LLE				Firm's E	IN ▶39	-0473	800	,
Use	Onlv	Firm's address	▶ 777 E. WISC									
	,	5 5547533	MILWAUKEE,	wiV		5	3202-5306	Phone r	no 414	-271-	2400	
								1			00 DE	(00:

Schedule B (Form 990, 990-EZ, or 990-PF) Department of the Treasury Internal Revenue Service Name of the organization

Schedule of Contributors

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF.

▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs gov/form990.

OMB No 1545-0047

Employer identification number

PRAIRIE SPRINGS: PAUL TRUST	FLECKENSTEIN CHARITABLE	46-6723636			
Organization type (check one)					
Filers of:	Section:				
Form 990 or 990-EZ	501(c)() (enter number) organization				
	4947(a)(1) nonexempt charitable trust not treated as a private fou	ndation			
	527 political organization				
Form 990-PF	X 501(c)(3) exempt private foundation				
	4947(a)(1) nonexempt charitable trust treated as a private foundat	lion			
	501(c)(3) taxable private foundation				
Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule See instructions General Rule X For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. See instructions for determining a					
contributor's total con	tributions				
regulations under sec 13, 16a, or 16b, and t \$5,000 or (2) 2% of t	escribed in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1 tions 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 that received from any one contributor, during the year, total contributions he amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1 Conserved in section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(7), (8), or (10) filing Form 990 as 900 EZ that section 501(a)(a)(a)(a)(a)(a)(a)(a)(a)(a)(a)(a)(a)(or 990-EZ), Part II, line s of the greater of (1) omplete Parts I and II			
For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III					
For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions exclusively for religious, charitable, etc., purposes, but no such contributions totaled more than \$1,000 if this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions totaling \$5,000 or more during the year					
990-EZ, or 990-PF), but it must	not covered by the General Rule and/or the Special Rules does not file S answer "No" on Part IV, line 2, of its Form 990, or check the box on line I certify that it does not meet the filing requirements of Schedule B (Form 99	H of its Form 990-EZ or on its			

For Paperwork Reduction Act Notice, see the instructions for Form 990, 990-EZ, or 990-PF

Schedule B (Form 990, 990-EZ, or 990-PF) (2014)

	3 (Form 990, 990-EZ, or 990-PF) (2014)		Page 2
Name of	organization PRAIRIE SPRINGS: PAUL FLECKENSTEIN TRUST	CHARITABLE	Employer identification number 46-6723636
Part I	Contributors (see instructions) Use duplicate copies of P	art I if additional space is ne	eded
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1-	ESTATE OF PAUL A FLECKENSTEIN 777 E WISCONSIN AVENUE MILWAUKEE, WI 53202	\$10,347,850.	Person X Payroll X Noncash X (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		. . \$.	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		. . \$.	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		- - \$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		- - \$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		- - \$	Person Payroll Noncash (Complete Part II for noncash contributions)

Name of organization PRAIRIE SPRINGS: PAUL FLECKENSTEIN CHARITABLE

Employer identification number 46-6723636

Part II Noncash Property (see instructions) Use duplicate copies of Part II if additional space is needed (a) No. (c) (d) (b) from FMV (or estimate) Description of noncash property given Date received Part I (see instructions) SECURITIES FROM SCHWAB 83963584 SECURITIES FROM SCHWAB 21772591 __1__ INTEREST IN GMO FORESTRY LP 3,379,265. 03/28/2014 (a) No. (c) (b) (d) from FMV (or estimate) Description of noncash property given Date received Part I (see instructions) (a) No. (c) (b) (d) from FMV (or estimate) Description of noncash property given Date received Part I (see instructions) (a) No. (c) (b) (d) from FMV (or estimate) Date received Description of noncash property given Part I (see instructions) (a) No. (c) (d) (b) from FMV (or estimate) Description of noncash property given Date received Part I (see instructions) (a) No. (c) (b) (d) from FMV (or estimate) Date received Description of noncash property given Part I (see instructions)

(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held			
		1				
	(e) Transfer of gift					

Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee

46-6723636

ATTACHMENT 1

FORM 990PF, PART I - INTEREST ON TEMPORARY CASH INVESTMENTS

		REVENUE AND EXPENSES	NET INVESTMENT
DESCRIPTION		PER BOOKS	INCOME
BMO HARRIS FANDL & CO		37 3	
	TOTAL	4.0	. 40.

46-6723636

ATTACHMENT 2

FORM 990PF, PART I - DIVIDENDS AND INTEREST FROM SECURITIES

DESCRIPTION		REVENUE AND EXPENSES PER BOOKS	NET INVESTMENT INCOME
SCHWAB ACCT NO. 2492-3668 SCHWAB ACCT NO 5532-6742 GMO FORESTRY FUND 8-A LP		111,894. 51,118. 1,184.	111,894. 51,118. 1,184.
	TOTAL	164,196.	164,196.

ATTACHMENT 3

FORM 990PF, PART I - OTHER INCOME

REVENUE
AND
EXPENSES
PER BOOKS

DESCRIPTION

GMO FORESTRY FUND 8-A LP:

ORDINARY BUSINESS INCOME (LOSS)

NET SECTION 1231 CAPITAL GAIN (LOSS)

TOTALS

-1,581.

-2,233.

-3,814.

46-6723636

ATTACHMENT 4

FORM 990PF, PART I - LEGAL FEES

TOTALS

FOLEY & LARDNER LLP

DESCRIPTION

REVENUE AND EXPENSES PER BOOKS

2,471.

2,471.

NET
INVESTMENT
INCOME

ADJUSTED NET <u>INCOME</u>

CHARITABLE PURPOSES

2,471.

46-6723636

ATTACHMENT 5

FORM 990PF, PART I - OTHER PROFESSIONAL FEES

	REVENUE	
	AND	NET
	EXPENSES	INVESTMENT
DESCRIPTION	PER BOOKS	INCOME
INVESTMENT COUNSEL FEES:		
SCHWAB ACCT NO. 2492-3668	4,376.	4,376.
SCHWAB ACCT NO. 5532-6742	1,515.	1,515.
TOTALS	5,891,	5,891.

PRAIRIE SPRINGS: PAUL FLECKENSTEIN CHARITABLE 46-6723636
FORM 990-PF - PART IV
CAPITAL GAINS AND LOSSES FOR TAX ON INVESTMENT INCOME

Kınd of F	Property		Desc	cription		οī	Date acquired	Date sold
Gross sale price less	Depreciation allowed/	Cost or other	FMV as of	Adj basis as of	Excess of FMV over	12	Gain	
xpenses of sale	allowable	basis	12/31/69	12/31/69	adı basıs	╫	(loss)	
		TOTAL CAPITA	AL GAIN DIS	TRIBUTIONS	}		46,116.	
111,265.		\$110,000 COI	LLEGE STATI	ON 5% 02/0	1/2016	D	05/04/2011 -8,206.	04/09/2
105,494.		\$100,000 INI 115,850.	DIANAPOLIS	LOC PU 5%	07/15/20	D	05/04/2011 -10,356.	04/09/2
119,808.		\$115,000 NOI	RTHLAND PIN	ES SD 5% O	4/01/201	D	05/04/2011 -10,591.	04/09/2
125,000.		\$125,000 ROO 134,425.	CHESTER CMT	Y SCH CALL	ED	D	05/04/2011 -9,425.	05/01/2
148,004.		\$130,000 CIT	TY OF OGDEN	5% 06/15 <i>/</i>	2019	D	05/04/2011 948.	06/06/2
181,409.		\$155,000 COT	UNTY OF SPO	KANE 4.5%	12/01/20	D	05/04/2011 4,290.	06/06/2
186,584.		\$160,000 DIS	STRICT OF C	OLUMBIA 5%	12/01/2	D	05/04/2011 264.	06/06/2
148,050.		\$125,000 FL 142,688.	DEPT EDUCA	TION 5% 07	//01/2020	D	05/04/2011 5,362.	06/20/2
176,895.		\$150,000 HO	USTON CMTY	COL 5.25%	02/15/20	D	05/04/2011 5,535.	06/06/2
144,368.		\$125,000 ME'	r waste wtr	MGMT 5% 1	.1/01/202	D	05/04/2011 1,893.	06/06/2
142,871.		\$125,000 OK	LA DEPT TRA	NS 5% 09/0	1/2019	D	05/04/2011 -1,404.	06/06/2
90,152.		\$85,000 AND:	ERSON EDL F	NDTN 5% 07	//15/2017	D	05/04/2011 -7,156.	07/23/2
1 000 1 3 9 6 H D M					100274-			PAGE

46-6723636

PRAIRIE SPRINGS: PAUL FLECKENSTEIN CHARITABLE 46-6723636
FORM 990-PF - PART IV
CAPITAL GAINS AND LOSSES FOR TAX ON INVESTMENT INCOME

. Kind of F		NO AND LO		ription		P	Date acquired	Date sold
Gross sale price less	Depreciation allowed/	Cost or other	FMV as of	Adj basis as of	Excess of FMV over	D	Gain	
expenses of sale	allowable	basis	12/31/69	12/31/69	adj basis	H	(loss)	
122,701.		\$110,000 BD 112,420.	MGRS JT GU	ADA 5.25% 02	2/15/20	D	05/04/2011 10,281.	07/23/2014
166,784.		\$150,000 CLA 163,320.	ARK COUNTY	SD 5% 06/15/	2019	D	05/04/2011 3,464.	07/23/2014
173,681.	i	\$150,000 COU 179,265.	JNTY OF FRA	NKLIN 5% 12/	/01/201	D	05/04/2011 -5,584.	07/23/2014
110,380.		\$100,000 KIN	NG COUNTY 5	% 01/01/2017	7	D	05/04/2011 -7,090.	07/23/2014
106,666.		\$100,000 NEW	W JERSEY TR	ANS 5.25% 12	2/15/20	D	05/04/2011 -5,764.	07/23/2014
		GMO FORESTRY	Y FUND 8-A	LP		D	1,863.	
TOTAL GAIN(L	oss)						14,440.	



Schwab One® Trust Account of C & J SCOTT J CALLAN TTEES PRAIRIE SPRING P FLECKENSTEIN CHARITIABLE TRUST 02/26/1998

Account Number 2492-3668

Statement Period December 1-31, 2014

Investment Detail - Equities

Equiles	Quantity Units Purchased	Market Price Cost Per Share	Market Value Cost Basis	Acquired	Unrealized Gain or (Loss)	Estimated Yield Holding Days	Estimated Annual Income Holding Period
KAYNE ANDERSON MLP INVT (M).\$	3,469.6235	38.1800	132,470.23		2.051.52	%08'9	9.021.02
SYMBOL: KYN	113.6235	38.4177	4,365.16		(27.01)		Short-Term
	1,605.0000	36.4995	58,581.82	04/11/14	2,697.08	264	Short-Term
	100.0000	38.5290	3,852.90	06/11/14	(34.90)	203	Short-Term
	200.0000	38.5291	7,705.82	06/11/14	(69.82)	203	Short-Term
	451.0000	38.5341	17,378.89	06/11/14	(159.71)	203	Short-Term
	500.000	38.5341	19,267.06	06/11/14	(177.06)	203	Short-Term
	200.0000	38.5341	19,267.06	06/11/14	(177.06)	203	Short-Term
Cost Basis	,		130,418.71				
TORTOISE EGY INFRASTRUCT (₩),\$	2,877.5377	43.7700	125,949.83		(11,308.00)	5.62%	7,078.74
SYMBOL: TYG	82.5377	47.2857	3,902.86		(290.18)		Short-Term
	1,285.0000	45.8435	58,908.98	04/11/14	(2,664.53)	. 264	Short-Term
	100.0000	49.5806	4,958.06	06/11/14	(581.06)	203	Short-Term
	200.0000	49.5806	9,916.12	06/11/14	(1,162.12)	203	Short-Term
	300.000	49.6155	14,884.67	06/11/14	(1,753.67)	203	Short-Term
	360.0000	49.6155	17,861.61	06/11/14	(2,104.41)	203	Short-Term
	400.0000	49.6155	19,846.23	06/11/14	(2,338.23)	203	Short-Term
	20.0000	46.5286	2,326.43	09/23/14	(137.93)	66	Short-Term
	100.0000	46.5287	4,652.87	09/23/14	(275.87)	66	Short-Term
Cost Basis			137,257.83				
Tolchequinibate Water Carlotte			Division of the second		Michigan Programme		A 16.090 76 4
· 等行者 然外有一种人 一十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二							
記にある。本人に被したからでは、できたからなった。 は、これには、これには、これには、これには、これには、これには、これには、これに		大一切のようない 土をおりてはない		一方 一方 一方 一方 一方	ないない 一大ない地域である	村 日本 一大	である。 では、 では、 では、 では、 では、 では、 では、 では、

Estimated Annual Income ("EAI") and Estimated Yield ("EY") calculations are for informational purposes only. The actual income and yield might be lower or higher than the estimated amounts. EY is based upon EAI and the current price of the security and will fluctuate. For certain types of securities, the calculations could include a return of principal or capital gains in which case EAI and EY will continue to display at a overstated. EY and EAI are not promptly updated to reflect when an issuer has missed a regular payment or announced changes to future payments, in which case EAI and EY will continue to display at a prior rate





Schwab One® Trust Account of C & J SCOTT J CALLAN TTEES PRAIRIE SPRING P FLECKENSTEIN CHARITIABLE TRUST 02/26/1998

Account Number 2492-3668

Statement Period . December 1-31, 2014

Investment Detail - Mutual Funds

Bond Funds	Quantity	Market Price	Market Value	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
BAIRD AGGREGATE (M),2 BOND INSTL SYMBOL: BAGIX	46,527.1400	10.8100	502,958.38	10.70	498,021.46	4,936.92
PIMCO EMRG LOCAL BD FD (M).2 INSTL CL SYMBOL: PELBX	15,414.8210	8.3200	128,251.31	9.63	148,379.38	(20,128.07)
PIMCO FOREIGN BOND FUND (M).2 INSTITUTIONAL CLASS SYMBOL: PFORX	14,545.1490	10.7700	156,651.25	10.86	157,909.28	(1,258.03)
RIDGEWORTH SEIX HIGH (M) YIELD I SYMBOL: SAMHX	52,778.6950	8.6400	456,007.92	9.32	492,062.49	(36,054.57)
VANGUARD INFLATION (W).& PROTECTED SECS ADM SHR SYMBOL: VAIPX	9,340.2710	25.8700	241,632.81	26.44	246,949.65	(5,316.84)
WELLS FARGO ADVTG INTL (W).2 BD I SYMBOL: ESICX	13,203.6750	10.5600	139,430.81	11.30	149,203.06	(9,772.25)

Equity Funds	Quantity	Market Price	Market Value	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
.	3 ING (M), § 12,731,3230 1	13.4900	171,745.55	15.44	196,524.85	(24,779.30)

Schwab has provided accurate gain and loss information wherever possible for most investments. Cost basis data may be incomplete or unavailable for some of your holdings. Please see "Endnotes for Your Account" section for an explanation of the endnote codes and symbols on this statement.





Schwab One® Trust Account of
C & J SCOTT J CALLAN TTEES
PRAIRIE SPRING P FLECKENSTEIN
CHARITIABLE TRUST 02/26/1998

Account Number 2492-3668

Statement Period December 1-31, 2014

氢

Investment Detail - Mutual Funds (continued)

Market Average Unrealized Equity Funds (continued) Quantity Price Value Cost Basis Gain or (Loss)	Quantity	Market Price	Market Value	Average Cost Basis	Cost Basis	Unrealized Gain or (Loss)
AMERICAN FD EUROPACIFIC (M), § GWTH FD CL F2 SYMBOL: AEPFX	5,892.5520	47.0200	277,067.80	49.02	288,871.53	(11,803.73)
COHEN & STEERS REALTY (M),2 SHARES SYMBOL: CSRSX	4,906.8550	76.8600	377,140.88	77.07	347,252.16	29,888.72
DFA EMERGING MKTS VALUE (M), § PORT INSTL SYMBOL: DFEVX	6,636.5340	25.7500	170,890.75	29.08	193,009.23	(22,118.48)
DODGE & COX INTL STOCK (M), & FUND SYMBOL: DODFX	7,495.2530	42.1100	315,625.10	46.71	350,107.83	(34,482.73)
PIMCO COMMODITY REAL (W).º RETURN STRAT INST SYMBOL: PCRIX	47,912.9330	4.4800	214,649.94	5.95	285,228.85	(70,578.91)
Wilete Heading Funday	TENERAL PROPERTY.		527 120 02		Tal Badigadida	(((33)87/442))





Schwab One® Trust Account of C & J SCOTT J CALLAN TTEES PRAIRIE SPRING P FLECKENSTEIN CHARITIABLE TRUST 02/26/1998

Account Number 2492-3668

Statement Period December 1-31, 2014

CHEST CONTRACTOR CONTR

Investment Detail - Other Assets

القوسواف والجائزة والمتاريخ والمراجع والمراجع والمراجع والمستمون والمتاجع والمتاجع والمتاركة والمتاركة

	Quantity	Market Price	Market Value		Unrealized Gain or (Loss)	Estimated Yield	Estimated Annual Income
Other Assets	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Penod
ISHARES CORE S&P ETF (M), §	1,786.1618	114.0600	203,729.61		9,851.34	1.60%	3,267.46
SMALLCAP	9.1618	107.5181	985.06		59.93		Short-Term
SYMBOL: IJR	550.0000	105.6202	58,091.15	04/11/14	4,641.85	264	Short-Term
	14.0000	111.2685	1,557.76	06/09/14	39.08	202	Short-Term
	300.000	111.2725	33,381.75	06/09/14	836.25	205	Short-Term
	181.0000	110.1376	19,934.91	06/11/14	709.95	203	Short-Term
	300.000	110.1326	33,039.78	06/11/14	1,178.22	203	Short-Term
	432.0000	108.5367	46,887.86	07/29/14	2,386.06	155	Short-Term
Cost Basis	•		193,878.27				
ISHARES RUSSELL 1000 (M),§	2,918.5423	104.4000	304,695.82		17,784.64	2.36%	7,216.33
VALUE ETF	27.5423	99.9408	2,752.60		122.82	,	Short-Term
SYMBOL: IWD	939.0000	93.9179	88,188.94	04/11/14	9,842.66	264	Short-Term
	199.0000	100.5429	20,008.05	06/09/14	767.55	205	Short-Term
	1,488.0000	100.1540	149,029.17	06/11/14	6,318.03	203	Short-Term
	100.0000	101.6318	10,163.18	07/29/14	276.82	155	Short-Term
	165.0000	101.6317	16,769.24	07/29/14	456.76	155	Short-Term
Cost Basis	•		286,911.18				
ISHARES TR RUSSELL 1000 (M),2	3,257.9047	95.6100	311,488.27		24,379.69	1.53%	4,780.14
GROWTH ETF	20.9047	90.5284	1,892.47	•	106.23		Short-Term
SYMBOL: IWF	1,057.0000	83.5264	88,287.48	04/11/14	12,772.29	264	Short-Term
	221.0000	90.4485	19,989.12	06/09/14	1,140.69	205	Short-Term
	64.0000	90.1443	5,769.24	06/11/14	349.80	203	Short-Term
	200.0000	90.1344	18,026.88	06/11/14	1,095.12	203	Short-Term

Schwab has provided accurate gain and loss information wherever possible for most investments. Cost basis data may be incomplete or unavailable for some of your holdings. Please see "Endnotes for Your Account" section for an explanation of the endnote codes and symbols on this statement.

Page 9 of 16

Schwab One® Trust Account of C & J SCOTT J CALLAN TTEES PRAIRIE SPRING P FLECKENSTEIN CHARITIABLE TRUST 02/26/1998

Account Number 2492-3668

Statement Period December 1-31, 2014

,두,년 227

Investment Detail - Other Assets (continued)

					Unrealized	Estimated	Estimated
	Quantity	Market Price	Market Value		Gain or (Loss)	Yield	Income
Other Assets (continued)	Units Purchased	Cost Per Share	Cost Basis	Acquired		Holding Days	Holding Period
ISHARES TR RUSSELL 1000 (M).	200.0000	90.1344	18,026.88	06/11/14	1,095.12	203	Short-Term
	400.0000	90.1343	36,053.75	06/11/14	2,190.25	203	Short-Term
	800.0000	90.1433	72,114.70	06/11/14	4,373.30	203	Short-Term
	295.0000	91.3493	26,948.06	07/29/14	1,256.89	155	Short-Term
Cost Basis			287,108.58				
Reith (of the Application)			ELOIYKIN)		45]则温		्राइम्बर्धारम्

Estimated Annual Income ("EAI") and Estimated Yield ("EY") calculations are for informational purposes only. The actual income and yield might be lower or higher than the estimated amounts. EY is based upon EAI and the current price of the security and will fluctuate. For certain types of securities, the calculations could include a return of principal or capital gains in which case EAI and EY will continue to display at a overstated. EY and EAI are not promptly updated to reflect when an issuer has missed a regular payment or announced changes to future payments, in which case EAI and EY will continue to display at a prior rate.





46-6723636

ATTACHMENT 6

FORM 990PF, PART I - TAXES

REVENUE

AND

NET

EXPENSES

INVESTMENT INCOME

DESCRIPTION PER BOOKS

1,814. 1,514.

1,814.

FOREIGN TAXES BACK UP WITHHOLDING

TOTALS

3,328, 1,814.

46-6723636

ATTACHMENT 7

FORM 990PF, PART I - OTHER EXPENSES

DESCRIPTION REIMBURSEMENT OF ATTORNEY	REVENUE AND EXPENSES PER BOOKS	NET INVESTMENT <u>INCOME</u>	CHARITABLE <u>PURPOSES</u>
DISBURSEMENTS	112.		112.
BANK SERVICE CHARGES	100.	100.	
FILING FEES DONORS FORUM CLASS FEE	850. 700.		850. 700.
DONORS FORUM MEMBERSHIP FEE	850.		850.
GMO FORESTRY FUND 8-A LP: OTHER PORTFOLIO DEDUCTIONS	4,905.	4,905.	
	.,,,,,,,	1,303.	
TOTALS	7,517.	5,005.	2,512.

46-6723636

ATTACHMENT 8

FORM 990PF, PART II - CORPORATE STOCK

DESCRIPTION	ENDING BOOK VALUE	ENDING <u>FMV</u>
EQUITIES - SEE ATT'D STMT EQUITY FUNDS - SEE ATT'D STMT ISHARES - SEE ATT'D STMT GMO FORESTRY FUND 8-A LP	267,677. 1,660,994. 767,898. 560,487.	258,420. 1,527,120. 819,914. 618,705.
TOTALS	3,257,056.	3,224,159.

46-6723636

ATTACHMENT 9

FORM 990PF, PART II - CORPORATE BONDS

DESCRIPTION

ENDING BOOK VALUE ENDING FMV

SCHWAB ACCT - SEE ATT'D STMT

1,692,525.

1,624,932.

TOTALS

1,692,525.

1,624,932.

ATTACHMENT 10

FORM 990PF, PART III - OTHER INCREASES IN NET WORTH OR FUND BALANCES

DESCRIPTION AMOUNT

NONDIVIDEND DISTRIBUTION 439.

> 439. TOTAL

ATTACHMENT 11

FORM 99	OPF,	PART	III	_	OTHER	DECREASES	IN	NET	WORTH	OR	FUND	BALANCES
---------	------	------	-----	---	-------	-----------	----	-----	-------	----	------	----------

DESCRIPTION TRUOMA

ROUNDING ADJUSTMENT 2.

TOTAL

FORM 990PF, PART VIII - LIST OF	OFFICERS, DIRECTORS, AND TRUSTEES	=	ATTACH	MENT 12
NAME AND ADDRESS	TITLE AND AVERAGE HOURS PER WEEK DEVOTED TO POSITION	COMPENSATION	CONTRIBUTIONS TO EMPLOYEE BENEFIT PLANS	EXPENSE ACCT AND OTHER ALLOWANCES
JOSEPH JAY SCOTT 1313 NORTH FRANKLIN PLACE UNIT 1906 MILWAUKEE, WI 53202	TRUSTEE 1 00	0	0	0
CAROLYN J SCOTT 1313 NORTH FRANKLIN PLACE UNIT 1906 MILWAUKEE, WI 53202	TRUSTEE 1 00	0	0	0
JOHN F CALLAN C/O FOLEY & LARDNER LLP 777 E WISCONSIN AVENUE MILWAUKEE, WI 53202	TRUSTEE 1 00	0	0	0
	GRAND TOTALS	0	0	0

ATTACHMENT 13

FORM 990PF, PART XV - NAME, ADDRESS AND PHONE FOR APPLICATIONS

JOSEPH JAY SCOTT 1313 N FRANKLIN PLACE, UNIT 1906 MILWAUKEE, WI 53202 262-424-7940

46-6723636

ATTACHMENT 14

990PF, PART XV - FORM AND CONTENTS OF SUBMITTED APPLICATIONS

USE OF THE WISCONSIN COMMON GRANT APPLICATION FORM, AVAILABLE FROM THE FUNDING INFORMATION CENTER AT MARQUETTE UNIVERSITY RAYNOR LIBRARY, IS RECOMMENDED.

ATTACHMENT 15

990PF, PART XV - RESTRICTIONS OR LIMITATIONS ON AWARDS

GRANTS ARE AWARDED IN THE AREAS OF CONSERVATION, ENVIRONMENTAL PROTECTION, ECOLOGICAL TECHNOLOGY AND WILDLIFE PRESERVATION.

46 6723636

FORM GOODE PART YV . CRANTS	AND CONTRIBUTIONS PAID DURING THE Y	FAD

FORM 990PE, PART XV - GRANTS AND CONTRIBUTIO	ONS PAID DURING THE YEAR		
			ATTACHMENT 16
	RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR		
	AND		
RECIPIENT NAME AND ADDRESS	POUNDATION STATUS OF RECIPIENT	PURPOSE OF GRANT OR CONTRIBUTION	AMOUNT
URBAN ECOLOGY CENTER	NONE	UNRESTRICTED GRANT	75,750
1500 E PARK PLACE	PC		
MILWAUKEE WI 53211			
DISCOVERY WORLD	NONE	UNRESTRICTED GRANT	15,000
500 N HARBOR DRIVE	PC		
MILWAUKEE WI 53202			
SHARP LITERACY, INC	NONE	UNRESTRICTED GRANT	10,000
5775 N GLEN PARK RD #202	PC		
MILWAUKEE, WI 53209			
GRAND AVENUE CLUB INC	NONE	UNRESTRICTED GRANT	250
	PC	UNRESTRICTED GRANT	250
210 B MICHIGAN STREET MILWAUKEE WI 53202	rc		
MILWAUREE WI 53202			
MIDWEST ENVIRONMENTAL ADVOCATES	NONE	UNRESTRICTED GRANT	8 000
1845 N PARWELL AVENUE SUITE 202	PC		
MILWAUKEE WI 53202			
CARROLL UNIVERSITY	NONE	UNRESTRICTED GRANT	150,000
100 N EAST AVE	PC		
WAUKESHA WI 53186			

ATTACHMENT 16

1396HD M091 100274-0103

PAGE 39

46-6723636

FORM 990PF, PART XV - GRANTS AND CONTRIBUTIONS PAID DURING THE YEAR

ATTACHMENT 16 (CONT'D)

RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR

AND

RECIPIENT NAME AND ADDRESS POUNDATION STATUS OF RECIPIENT PURPOSE OF GRANT OR CONTRIBUTION AMOUNT ALL HANDS BOATWORKS NONE UNRESTRICTED GRANT 5,000 1845 N FARWELL AVE SUITE 100 PC MILWAUKEE, WI 53202 MILWAUKEE RIVERKEEPER, INC NONE UNRESTRICTED GRANT 1,000 1845 N FARWELL AVE, #100 PC MILWAUKEE, WI 53202

TOTAL CONTRIBUTIONS PAID

265,000

46-6723636

FORM	990-PF	PART	XVT-A	_	ANALYSIS	OF	OTHER	REVENUE	

				ATTACHMEN	T 17
DESCRIPTION	BUSINESS CODE	AMOUNT	EXCLUSION CODE	AMOUNT	RELATED OR EXEMPT FUNCTION INCOME
GMO FORESTRY FUND 8-A LP - ORDINARY INCOME (LOSS) GMO FORESTRY FUND 8-A LP - SEC 1231 GAIN (LOSS)	110000 110000	-2,233 -1,581			
TOTALS		-3,814			